[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

.................................................

..........................................

.................................

..................

!Illlqllﬂll!llll!‘

O ‘G: + 1 Lli a1
=1 E :
g 2:— ---------- [P L ——
CI1:) 28 I 2
: '
| =0

1072 10 1 10 0?
TP vertr (cr%)

—=— DQMstep3_ZToEE_CKF

Effici —e— DQMstep3_ZToEE_default
ICIeNd . pQMstep3_ZToEE_defaultNEWT

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

0
1.4

Ratio

1.2

10 20 30
TP vert z (cm)

|
H

1]

I
W

o

| T : S

o B

I

N

o

o

N 0.02r

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


